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4.7 K
Kw - Eju.'lfbf{um constani fu the  2f onzation of  Wafer
HoO0l) == Hip+ OHw)
Kw = CHYJLOW]
fomember  (U) lpure ligyik) nct inc yokd n /(? explesscns

ol wellen as !
A M0l == HaO0%)+ OHley)
Ku= [H0*1LOH]
Neutral <012 H, 0t = OH

crdiC ot reater than OH"
gie gm giass than OH"

Kw= 00 x10™ @ 25%C

Examge 1© In a neutral sol? CHz0*J = COHT . Find LT of eachion.

Example 2. An acd solution dissolved in woder contains
' CHa0* S - 0. OlM, Calculate COH]

Self donization of Woter < Endo thermdc :
Ql/w + quj - Hzotaz)r OH-(ag)

- meeaSe ‘|€m,o e—?MWbﬁUM S[’hﬁl‘s vec
- decrease temp  egulpriom  shifs ...
Unless 4dd otherwse assume temp = A5C S kw: |00 xig= !
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) When woder i heated what hapoers 4 (H0"T 7

B Ts hot water acidi, basc or nevtal I Explain

c) Whet M,Opens to the valie of Kw when woler o heated 7

What s [Ho'l & COH1 O.,OO!M(q;),HCj ? (of ASC)

Some  explination 137 = HCR s a shrong acid so 1007, disocile

S0 HY —— H* + b~

and (ag) = n tho s« H* +Jiz0—’H304
[Hao' T = CHXS
Kw= [ Hgo* TLOH T

In 0,035 M NoOH ) What s CHs0'] 7 )
Is  sol? acidc, basc o neutrq 7

Suppert  with  celcs (Use #'% 10 Show NaOM's basic

)



